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1.0 160Cal x 1000 x 4.18 J/cal = 6.7 x 10° J
2.075x3x3600=28.1x10Ws=8.1x10"J
3.0 16/ 4.184 = 3.8 keal
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q=24.1x 103 J = (250 £)(0.902) (T — 5.0)
T=1119°C
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15.5 X Comewt X (18.9 — 100.0) = —(55.5)x(4.184 J/g*K) x (18.9 — 16.5)
Cmetal =0447/ g'K
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400g x (0.451 J/g*K) x (32.8 — T) = —(1000) x (4.184 J/g*K) x (18.9 — 16.5)
T = 330.°C
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25.0 x 2.53 x (64.6 — 25.0) = 2.50 x 10’ J
25.0 x (2.00 x 10° J/g) = 5.00 x 10*J
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1.32 x (333J/g ice) = 440 J

440 = —(9.85) X (Crmetar) X (0.0 — 100.0)
Crmeat = 0.446 J/g'K
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I,(s) — Ix(g) AG = 62.4 kJ
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1.0 (10.0 / 253.8) x (62.4) = 2.46 kJ
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(3.45/253.8) x (62.4) = 0.848 kJ
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H,O(D) Ho(g) + 1/205(g) AH = +285.8 kJ
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(12.6 g / 18.02) x 285.8 = 2.00 x 10> kJ
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2 C(s) + 3 Hx(9) CoHg(9) AH =7
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C,Hg(g) + 7/2 05 —= 2 CO4(g) + 3 H,O(l) AH = —-1559.7 kJ
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2 COxg)+3 HO() - CHe(g) +7/20xg) AH=+1559.7 kJ
2C(s)+205g) - 2COxg) AH =2 x (-393.5) kJ
3Hx(g)+320x8) - 3H,0() AH=3x (-285.8)kJ

2CG6) + 3Hxg) -» CHg) AH = -84.7 kJ
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PbS(s) +3/20,(g) — PbO(s) + SOx(g) AH = -413.7 kJ
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PbO(s) + C(s) —— Pb(s) + CO(g) AH = +106.8 kJ
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PbS(s) + C(s) + 3/20,(g) — Pb(s) + CO(g) + SO(g]
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AH = -413.7 KO +0 106.8 kJ = —306.9 kJ
[(454 ) / (239.3 g)] x (-306.9 kJ) = 582 kJ
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2C(s)+ 3 Hyg) + 12 0x(g) » CHOH ()  AH° = -277.7 kJ/mol

Cu(s) + 1/8 Sg(s) + 2 0x(g) —» CuSO4s) AH° =-771.4 kJ/mol
AH = (-277.7)x 1.5=-42x 10" J
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CsHes(l) + 15/20,5(g) — 6 COy(g) + 3 HO(l
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AH., = 6 AH®; [CO5(g)] + 3 AH®; [H,O(l)] CsHe(D)] — { AH®; [CsHe(D] + 15/2 AH: [O2(2)]} = 6 x (-393.5) + 3 x
(—285.8) -1 x (49.0) - 0 = -3267.4 kJ
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0000000000000 1.50x10° x 4.184 x 2.32(K) = 14.6 x 10°J
00D0@OD0)00000000837x 232(K)=1.94x 10° J
000000 1.000000000000000 =-165kJ
000000000000 =-16.5kJ x 342.2 = -5650 kJ
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q = 4.2 x 400. x (26.60 —25.10)=2.5x 10° J (0.0800 0 00 HCIO OO O)
2.5 kJ / 0.0800 = 32 kJ/mol (HCI)

00 O AH = -32 kJ/mol
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BaO(s) + H,O(l) —— Ba(OH)»(s) AH°y, =-105.4.8 k.
Ba(s) + 1/20,(g)— BaO(s) AH° [BaO(s)] =-553.5 kJ

Ba(OH),s)0 0 OO0 0000000000000
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Ba(s) + 112 Ox(g) — BaO(s)  AH°[BaO(s)] = -553.5 kJ/mol

Hai(g) + 1/2 Ox(g) - H,O(l) AH® [H,O(l)] = —285.8 kJ/mol
BaO(s) + H,O(l) — Ba(OH)y(s) AH°.m = —105.4 kJ/mol

Ba(s) + Ox(g) + Hi(g) — Ba(OH)i(s) AH°.. = —944.7 kJ/mol



